HIWIN.,

Motion Control and System Technology

Industrial Robot

Technical Information

www hiwin.com.tw  www.hiwinmikro.com.tw



KOZTE10-1301

1.2 Accessories

Accessories of KK industrial robot are also supported for specific demands, such as alluminum cover, bellows,
motor adaptor flange and limit switch.

O Alluminum cover and bellow: contamination protection.
O Motor adaptor flange: connection for different types of motors.
O Limit switch: starting point, positioning and other safety matters.

Aluminum cover

Motor housing

Fitting Plate

Limit switch

Motor adaptor flange

s Cover *Bellows

11



12 KO2TE10-1301

1.3 Model Number of KK Series

Example: KK&010P-400A1-F1CS0

KK 40 10 P E - 400 E A 2 E - FO Cc S0 M
| |
KK Stage M:-Supply With Motor
None:Without Motor
Nominal Width:
40, 50, 60, 86, Limit Switch:
100,130 S0: Switch Rail Only

S51: Omron SX671

Ballscrew Lead:— S2:- Omron SX&74

EE ég ; S3: SUNX GX-F124
' S4: SUNX GX-F12A-P
KK &0 : 5,10 None: No Limit Switch and Rail
KK 25 :10,20 '
KK 100 : 20
KK 130 . o — C: Aluminum Cover

B: Bellows
None: Normal Type

Accuracy Grade:
P: Precigion, C: Normal

: —— Motor Adaptor Flange
E: Ballscrew Special Order —— ref. catalog (P.6~P.%)

None: Normal Type

E: Block Special Order
None: Normal Type

Rail Length [unit: mm]
KK40 - 100, 150, 200
KK50 - 150, 200, 250, 300 |
KK&0 - 150, 200, 300, 400, 500, 600 Number of Blocks: 1 or 2
KK86 - 340, 440, 540, 640, 740 940

KK100 : 980, 1080, 1120, 1220, 1380 ,LB\.[O&FHSF:
KK130: 980, 1180, 1380, 15680 S: Shaort

E: Rail Special Order
None: Normal Type




KOZTE10-1301 13

1.4 Specifications

Me
//ﬂ_ﬁ___—\
e
1 7
/ o\
L |
Ballscrew Guideway
Basic Basic Static Rated Moment
_ _ _ Dynarmic Static
Neminal |ead Basic Basic Load Load Allowable Static Allowable Static Allowable Static
Model No. Diarneter [mm] Dynarmic Static el el Mornent M, [N-m] Mornent M, [N-m] Morment Mg[N-m]
] Load  Load IN] IN] Ipitching] lyawing] Irolling]
IN] IN]
Block EBlock Block Elock EBlock Block Block Elock Block Block Block Block Block Block Elock Elock
A 5 A 5 A1 AZ 31 52 A1l AZ 31 52 Al A2 51 52
Precision 735 1538
KK&4001 8 1 3920 - bB4BB - 33 182 - - 33 182 - - 31 162 - -
Normal &75 1234
Precision 2136 3489
KK5002 3 2 8007 - 12916 - 16 545 - - 16 545 - - 222 444 - -
Normal 1813 2910
Precision 3744 6243
KK&005 12 5 13230 7173 21462 11574 152 7860 72 367 152 760 72 367 419 B3B 241 482
Normal 3377 5625
Precision 2410 3743
KK&010 12 10 13230 7173 21462 11574 152 7860 72 367 152 760 72 367 419 B3B8 241 482
Normal 2107 3234
Precision T144 12642
KK8610 15 10 31458 21051 50764 29475 622 3050 166 1309 622 3050 166 1309 1507 3014 B4T 1694
Norrmal 6429 11387
Precision 4645 7655
KK8620 15 20 31458 21051 50764 29475 622 3050 166 1309 622 3050 166 1309 1507 3014 B4T 1694
Normal 4175 6889
Precision 7046 12544
KK10020 20 20 39200 - 63406 - 960 4763 - - 960 4763 - - 2205 4410 - -
Normal 4782 163
Precision 7897 15931
KK13025 25 25 48101 - B4B29 1536 7350 - - 1536 7350 - - 3885 7770 - -
Norrmal 7092 14352



14 KO2TE10-1301

1.5 Accuracy Grade

Unit: mm
Rail Repeatability Accuracy Running Parallelism  Starting Torque[N-cm)
Model
Length Precision MNormal Precision Normal Precision Normail Precision Normail
100
KK40 150 +0.003 +0.01 0.020 - 0.010 - 1.2 0.8
200
150
200
KK50 +0.003 +0.0 0.020 - 0.010 - 4 2
250
300
150
200
+0.003 +0.01 0.020 - 0.010 - 15 7
300
KK&60
400
500
+0.003 +0.0 0.025 - 0.015 - 15 7
&00
340
440
+0.003 +0.01 0.025 - 0.015 - 15 10
540
KK8é
&40
740 +0.003 +0.0 0.030 - 0.020 - 17 10
940 +0.003 +0.01 0.040 - 0.030 - 25 10
280
+0.005 +0.0 0.035 - 0.025 - 17 12
1080
KK100 &0 +0.005 +0.01 0.040 - 0.03 - 20 12
1280 0.045 0.035 23
+0.005 +0.01 - - 15
1380 0.05 0.04 25
280 0.035 0.025 25 15
&0 +0.005 +0.01 - -
KK130 0.04 0.03 25 15
1380

1680 +0.007 0.2 0.0s = 0.04 = 27 18



KOZTE10-1301 15

1.6 Maximum Speed Limit

Ballscrew Lead Rail Length Speed [mm/sec)
el (mm) (mm) Precision Normal
100 190 190
KK4&0 01 150 190 190
200 190 190
150 270 270
200 270 270
KK50 0z
250 270 270
300 270 270
150 550 3%0
200 550 3%0
300 550 3%0
05
400 550 3%0
500 550 3%0
500 340 340
KK&0
150 1100 790
200 1100 790
300 1100 790
10
400 1100 790
500 1100 790
500 670 670
340 740 520
440 740 520
540 740 520
10
640 740 520
740 740 520
240 610 430
KK86
340 1480 1050
440 1480 1050
540 1480 1050
20
640 1480 1050
740 1480 1050
240 1220 870
f80 1120 800
1080 ?80 800
KK100 20 1180 750 750
1280 510 630
1380 440 530
?80 1120 800
1180 1120 800
KK130 25
1380 830 800

1680 550 550



KOZTE10-1301

1.9 Dimension

1.9.1 Without cover

KK40

4-M3x0.5Px4.5 DP 58 2¢n-@3.4THRU,@6.5x3 DP
33
2x2-MIx0.5Px6 DP 2.5 . 2x2-M2.6x0.45Px4 DP 20 /5
r._.126 l it ./ T
18
T AR =+l E@g* -
=" I I O — p——— | = - 1 =
& (ﬁ JONT d I I &
e A O o 4| B slple]|He dls —
18 11 N .I’JIJ’II[ 1l
40 2-M2.6x0.45P45 DP/ |__|10x1.2 DP 6
SECTION A-A 5 L2 5
' L1
49
J4., 25
4-M3x0.5Px6 DP 4.5
iy g
A
4 /A WF 2+
T A T e R === | _EWB
), L up e
/ —y &
‘ ‘ 40 G =
. [n-11x60
Rail Length Total Length Maximum Stroke [mm) & [mm] | Mass [kg)
L2 [mm L1 (mm) A1 Block A2 Block A1 Block A2 Block
100 15¢ 36 - 20 2 0.48 -
150 209 Bé 34 15 3 0.6 0.67
200 259 136 B4 40 3 072 079
KK50 4-M4x0.7Px6.5 DP
2x2-M2.6x0.45Px4 DP s 2xn-@4.5 THRU,@8x4 DP
2x2-M3x0.5P 8 DP 30
35 y Ilrrllrr T
25 \%
| . T @3’ " H % + | % ] @/ [_'&
s S T E :
o e e B e B | ettt 7= S - o
o~ S T ) | el
Ferg pH L o Alslsp &  ih
25 (123 = i f
50 ™ 2-M3x0.5Px4 DP, 15%1.3 DP 5.7
K G
SECTICN A-A s 5 5
]
60
% 34
4-M3x0.5Px6 DP 16.5
PCD 33 | 10 10
L 5 T A ‘w" i
% i s\ 2 e % it 4] W views
"’gl ki T = N e e %
**‘”’&/‘”‘*v *El o/ 7] ] | —— =
]
—~A g0 G e
VIEWB [n-11x80
; Maximum Stroke [mm) Mass [kg)
Rall[rlﬁemn th Total Length (2 (EeTera N [ e g
L2 L1imm]  A1Block A2 Block A1 Block A2 Block
150 220 70 - 35 20 2 1 -
200 270 120 55 20 160 3 1.2 1.4
250 320 170 105 45 160 3 1.4 1.6
300 370 220 155 30 240 4 1.6 1.8



KOZTE10-1301

KK60 (Standard)
g2 4-M5x0.8Px8 DP
2xm-M2.6x0.45Px4 DP 51 2xn-@5.5 THRU,@9.5x4.7 DP
2x2-M3x0.5Px8 DP 30
42 1 !’;
‘ '@%’ Ir:rr f} N _{}_l + Ei :'@g e N
o AT ?&E————————ﬁt—————-———— — &i- |- &
TR M & i Y [shElle  ls 17
R E Ay
30 _[15]5 b/ :
&0 2-M2.6x0.45Px3 DP/|___|15x1.5 DP &
. | G
SECTION A-A T
7 L2 7
L1
5
4-M3x0.5Px8 DP 2.5
AL §
A
[T7] u’ i rn—\‘l;;‘r-F'_m_v_n w - r 2
oI - ,",’ B | NS O~ — A o AN ----—\'IIIE\""IIB
- + I * i * | 2
1 N S ¥ S I §8) I =
I | o
qu —A ®
= G
{n-1]x100
; Maximum Stroke [mm] Mass [kg)
Rall[rl;qemn th 'I'Lo1te[|l Le?gth & fnel |2 il [ m g
L2 mm AlBlock A2 Block AlBlock  A2Block
150 220 &0 - 25 100 2 2 15 -
200 270 110 - 50 100 2 2 18 -
300 370 210 135 50 200 3 2 2.4 2.7
400 470 310 235 50 100 4 4 3 33
500 570 410 335 50 200 5 3 3.6 3¢
&00 &70 510 435 50 100 & & 4.2 4.6
KK&0 (Light Duty)
59 2-M5x0.8Px8 DP
2xm-M2.6x0.45Px4 DP 28 2¢n-©5.5 THRU,B9.5%4.7 DP
2x2-M3x0.5Px8 DP
4z y i 7
h & 0 B dl [+ 5% 0+ =
~
v, ?&E—-—-—-—If—-—-——--—- —-— - e
AN L e @& Gpelfe  d+ L |
30 18] -
&0 2-M2.6x0.45P:3 DP 10x1.5 DP s
SECTION A-A ‘ .
[m-1]xK
7 L2 7
L1
59
8.5 _30.5
1
A
U - I 5
= (AL L1 155 viEws
- it + | ' + E:___ 2
} L A ! n Z
LﬂT -y =
S 100 G
(n-11x100
VIEW B
i Maximum Stroke [mm] Mass [kg)
Rall[Len]gth Total Length & tnel |2 il [ m g
L2 [mm L1 (mm) S1Block 52 Block S1Block 52 Block
150 220 B85 34 25 100 2 2 1.4 1.6
200 270 135 B4 50 100 2 2 17 18
300 370 235 184 50 200 3 2 2.3 2.5
400 470 335 284 50 100 4 4 29 31
500 570 435 384 50 200 5 3 35 37
&00 &70 535 484 50 100 & & 4.1 4.3

19



20

KOZTE10-1301

KK86 (Standard) s
2xm -M2.6x0.45Px4 DP 4 4-Méx1Px12 DP
2%?-M£x0.7Px10 DF 2-M2.46x0.45Px4 DP, 15x2 DP 2xn-@é.6 THRU,@11x6 DP
40 ¥ 'If T - | —
,...—...I“ I T & T of _é lr
Il — -
J a3 Y — 8 -
S I e l g i '
a3 @ | ool P !
L4 20 * I ry
86 o 65 J[ 7.5
~ 200 H
SECTION A-A {m-11x200 6.5
87
4-M5x0.8Px 10 DP 5
- XU 8HX
[28_ 3.5
PCD 70 13 13
/"__\-\-\ m A -m_‘ =
— | =
- ! &N%T o o ____—_q [ E———1¥2 55 VIEWB
ol _ RN J}J,P B g . r|’I| . : n i 3 gl —
L = A/} LT o7 ] nyy L _ 11 _ =]
* — = * Tt |__A g
/4-M£x0.7Px8 DP 100 70 ©
PCD 60 {n-11xi00
VIEW B L2
L1
Rail Length Total Length Maximum Stroke [mm) (mm] n - Mass (kg)
L2 [mm L1mm]  A1Block A2 Block A1 Block A2 Block
340 440 210 100 70 3 2 57 &5
440 540 310 200 20 4 3 69 7.7
540 &40 410 300 70 5 3 B0 8.8
&40 740 510 400 20 & 4 @2 0.0
740 B40 &10 500 70 7 4 10.4 1.2
Q40 1040 210 700 70 g 5 1.6 12.4
KK85 (Light Duty)
84
Zxrn-M2 6x0 £5Px 4 DP 1543 DP 43 2-Méx1Px12 DP
2-MéxD 7Px10 DP 9-M2.6x0.65Px4 DP 71,5 2x0-@6.6 THRU,@11x6 DP
60 T I LS
rd
-t o H @1[ [ _@/ i
g $ 5} Il (-
s _________H____ J I ___E { 1 - L. )|
N IR 7 i
% Fre=gter . @ a9 [l | e |
46 |20 i -
86 p 65 || 75
< 200 H
SECTION A-A Tm-11x200 6.5
87
50
4-M5x0.8Px10 DP e 5 a5
PCD 70 \ 13 "2—"18
o
E2 il
Z8-N U A L z
- N /‘\c' I e e— 503%_'_“ ____q; ] _L ol S2| views
B J I8 2 810 I " IR
— g 2 o + L+ I + C i g
J 5 - & 3 T ] ) ———1 =
= ¥ * i !—-—A 5
zz. M&x0.7Px5 DP 100 70 =
[n-1]x100
VIEW B L2 X
Rail Leni;th Total Length Maximum Stroke [mm) Himml n - Mass [Kg)
L2 [mm L1 (mm) S1Block 52 Block 5$1 Block 52 Block
340 440 246 170 70 3 2 5.4 59
440 540 346 270 20 4 3 &6 71
540 &40 446 370 70 5 3 77 8.2
&40 740 546 470 20 & 4 B9 2.4
740 B40 46 570 70 7 4 10.1 10.6
240 1040 B4h 770 70 g 5 1.3 1.8




KOZTE10-1301

21

83

142.6
KK100 %5
50
2xm-M2.6x0 45Px4 DP o001 50p 4-Max1.25Px15 DP
" o2 M T 10 DP M0 5Pes D = 2xn-7i9 THRU @1 £x8.5 DP
=0 > —if ¥ j 7 U
& @ GIERCEAl: & r-‘ N
oo A b
i 0 B 1 e | & Asme b o i .
50 |25 Be Il 2=y
100 1 75 g
200 H 75
SECTION A-A o am
94
27 45
4-M5x0.8Px 10 DP o
15 2z
] A L B
o | — T — e e s | [ o VIEW B
Bl + _|'|I + + 1]
fL ay T T ]
Le-p =
150 G &l g
In-11x150 =
L2
K]
Rail Length Total Length Maximum Stroke [mm) G mml Himml n m Mass (kg)
L2lmm) L1lmm)  A1Block A2 Block Al1Block A2 Block
280 1089 BZ2B 700 40 e0 7 5 18.6 20.3
1080 118¢ 928 800 15 40 B & 203 220
1180 128¢ 1028 2on &5 e0 B & 220 237
1280 1389 1128 1000 40 40 g 7 236 25.3
1380 1489 1228 1100 15 e0 10 7 253 270
KK130 157
108
Jxmn-M2 &x0.45Px4 DP 4-M3xD 5Px 6 DP AT 4-M10x1 5Px20 DP
o9 MixD 7P 10 DP . 5 2xn-211 THRU,®17.5¢10.5 DP
33 > — T T /] I, U
e s & B F | —
g T _E i — i i y‘ [
m [ 8 _ _ il _ _ (‘l:%\ | _ g ! 8
47 -l._ o &5 3 - i g I
AL & | @ o [ —
mn _SEL £l
130 i = ” LT
9 12
SECTION A-A 200 9
Im-1lx200
100
8-Méx1Px12 DP 3535 35
PCD 90 (29
18 16
0 A ]
— ! L | — = 2
o — 1—— — mﬂ_[H_-l_ 12— ——1 ] | gl 53| _VIEWE
S Y e S S B S §
3 Vi | i i gon ] Hi-
f If ' i s
150 G =
-1 150 =
Lz
L1
Rail Length Total Length Maximum Stroke [mm) 6 mm) Himm] n - Mass [kg)
L2 [mm L1Imm)  A1Block A2 Block A1Block A2 Block
280 1098 211 £59 40 20 7 5 29.4 323
1180 1298 101 Bh¢ &5 20 B & 343 372
1380 14928 121 1059 20 20 g 7 392 421
1680 1798 1511 135¢ 20 40 i g 465 494



KOZTE10-1301

1.9.2 With cover

KK40

4-M4x0.7Px14 DP

58

33

2x2-M3x0.5Px4 DP 20
“\\ 6

2xn-@3.4 THRU,@6.5%3 DP

2x2-M2.6x0.45Px4 DP

‘.EL = ]
o LI =g .
., |||___= T %
L ] & L
o ] __1_?1___1_|J:_______ T Al ]
_______ L |
18 |11 ::51—”— i
i o ‘ EXTES R
SECTION A-A L2
L1
49
12 25
4-M3x0.5Px4 DP 1145,
A .
sl ! I —
|I!I Il | ;?
_1_______|=EI_______ 4l == 77 _VIEWB
LI L b—-—-t-41B
I_,A‘ <
L 80 G B
[n-11x40
Rail Length Total Length Maximum Stroke [mm) & [mm] | Mass (kg)
L2 [mm L1 [mm) A1 Block A2 Block A1 Block A2 Block
100 159 34 - 20 2 (.55 -
150 209 84 34 15 3 0.48 078
200 259 134 84 40 3 0.82 0.89
z; 4-Méx0.7Px10 0P
2x2-M2 6x0 45Px4 DP 0 Axn-Fi4 5 THRU @gx4 DP
SECTION A-A Hx2-Max0.5Px4 DP g
K G
L2
L1
&0
14, a4
4-M3x0.5Px 6 DP .Jiﬁ._m_
10
PCD'_3|3 . ’—-A
A , i Wi i |
0 L r)g{ Ex—q; 0 // . |||: i al 5 - ] VW
8 , N T R i =t
N f0 T ] O-————o = e
'-”.r 'D_T |——A ITs]
= VIEWE a 80 3 &
[n-1]xB0
Rail Length Total Length Maximum Stroke (mm) Mass [kg)
fmm] Glmm) Klmm] n
L2 L1 (mm) A1 Block A2 Block A1 Block A2 Block
150 220 70 - 35 80 2 11 -
200 270 120 55 20 160 3 13 15
250 320 170 105 45 160 3 1.4 1.8
300 370 220 155 30 240 4 1.8 2.0



KKé0 (Standard)

74

2x2-M2.6x0.45Pxé DP

2xm-M2.6x0.45Px4 DP

4-M5x0.8Px8 DP

2xn-@5.5 THRU,@%.5x4.7 DP

KOZTE10-1301

T hEm
L1 —
N vl _alE \“'{j M JI'G%—[N 3] Iz
& i e I .
0 15 <
50 i
SECTION A-A
59
4-M3x0.5Px8 DP 18'51‘%]'5
PCD 40 i A 3
— . 5 ' )
i 2 S LU _
“ L | o | =l i ‘E_____E[_JE:____ % vewe
e | i o - | - - S
. I — =
C’l b By i /A S L =
* ! il I——A =
4-M4x0.7Px8 DP| gf 10 G ©
PCD40 B Tn-11x700
i Maximum Stroke [mm] Mass (kg
Rall[ Len]gth Total Length &t |l | m g
L2 imm L1 (mm) A1 Block A2 Block A1Block A2 Block
150 220 &0 - 25 100 2 2 1.7 -
200 270 110 - 50 100 2 2 2.1 -
300 370 210 135 50 200 3 2 2.7 30
400 470 310 235 50 100 4 4 3.3 3.6
500 570 410 335 50 200 5 3 3.9 4.2
&00 &70 510 435 50 100 & & 4.6 5.0
KK60 (Light Duty)
59 2-M5x0.8Px8 DP
2g -
86
7 2xm-M2.6x0.45Px4 DP Hi 2xn-5.5 THRU,&9.5x4.7 DP
- &4 =
1
T hErg
L1 —
oo n ‘] -
S RE e ;"L}_M,Im IE
30 _15| o
60
SECTION A-A
59
985305
11 55
% . 7
° R e
2 o | el 4 [ _JE:____ 2] newe
- i & ! - = | &=
f , } /- — L Z
A
4-M£4x0.7Px8 DP QT 100 G ®
PCD 40 [n-11x100
VIEW B
; Maximum Stroke fmm] Mass [kg)
Rall[rlaehq th Total Length e (e m g
L2 L1 (mm) S1Block 52 Block S1Block 52 Block
150 220 85 34 25 100 2 2 1.6 18
200 270 135 B4 50 100 2 2 18 2.1
300 370 235 184 50 200 3 2 2.5 27
400 470 335 284 50 100 4 4 31 33
500 570 435 384 50 200 5 3 37 3¢
&00 &70 535 484 50 100 & & 4.4 4.6

23



24

KOZTE10-1301

KK86 (Standard)

112
100

4-M2

.6x0.45Px6 DP

4-Méx1Px12 DP

’—T—‘ 2xm-M2.6x0.45Px4 DP 2xn-@6.6 THRU,@11x6 DP
1 = —_
~ & @Z__—_'—_ﬁ
| i |’
==
2 ik @ 4ot TR Il = 8
Py & 5 MRS | | i I
T = L i
46 |20 B ki
86 " 7.5
F H
SECTION A-A Tm-11x200
87
50
4-M5x0.8Px10 DP + 78 15
PCD 70 13 A 18
I I 7=
g A 11 i [F——— | [} 5ot 75| _viEwB
= + I+ | + p = B
|'|"|| ” |'|"|| ! |T'|| I____- I [
— * Tr ;_-_A g
/4-M£x0.7Px8 DP 100 70 ©
PCD 60 in-11x100
L2
VIEW B X
Rail Length Total Length Maximum Stroke [mm) Himml n - Mass [kg)
L2imm]  L1lmm)  a1Block  A2Block A1Block A2 Block
340 440 210 100 70 3 2 &5 7.3
440 540 310 200 20 4 3 78 B4
540 &40 410 300 70 5 3 @0 2.8
&40 740 510 400 20 & 4 10.3 1.3
740 B40 &10 500 70 7 4 1.6 12.4
Q40 1040 210 700 70 g 5 13.0 13.8
KK85 (Light Duty) .
43
112 4-M2.6x0.45Px6 DP 213 | 2-Méx1Px12 DP
’-% 2xrn-M2.6x0.45Px4 DP 8 2xn-@6.6 THRU,@11x6 DP
1
P i _lL
w0 i [ 1ol
e P A S Ao I
K o i S i
46 |70
86 0
w1
SECTION A-A Tm-1lx200
87
%3 50
£-M5x0.8Px10 DP 28 a5
PCD 70 13 A 18]
D = 'J' ~!—_[‘U:| i = _
© o I —————— e TE——— | [ 19 55 _viEWS
- o + i+ | + | b IS
L r [ I ] L1 —
* * 1t ;_...A =
100 70 =
PCD 80 [n-11x100
VIEW B L2
L1
Rail Leni;th Total Length Maximum Stroke [mm) Himml n - Mass [kg)
L2 [mm L1(mm)  51Block 52 Block 51 Block 52 Block
340 440 246 170 70 3 2 £.3 7.1
440 540 346 270 20 4 3 7.6 B.4
540 &40 L6 370 70 5 3 8.8 2.4
&40 740 546 470 20 & 4 101 1.1
740 B40 46 570 70 7 4 1.4 12.2
Q40 1040 B4h 770 70 g 5 12.8 13.6




KOZTE10-1301

142.6
95
ﬁg £-M3x0.5Px6 DP 50 4-M8x1.25Px15 DP
95 N 2xm-M2.6x0.45Px4 DP -—|8 P 2xn-g? THRU,&14x8.5 DP
i . n 0 a GF _
—— F__ ___ =t ____ ] e Ta
W@T : T q2eds 0 & ]
8 Fop et | == mm———————- Fai==gr e &
B 1S O [ s e thi T e S T < | g 4
A s B ! _@"___JL__Q _______ SRR =N - ]
o =
50 _|25 I
100 = [ & «+ & | 8
200 H
SECTION A-A {m-11x200
94
4-M5x0.8Px 10 DP 21 325
15 —a =551
” i -
— _fl’ — _m‘l}_ ﬂﬂ_ Il — lT :
+ JII| + ! + &
L] T [N L Ol-——t——
Lea &2
150 G SES
(n-11x150 g
L2
L1
; Maximum Stroke [mm] Mass (kg)
T_azzl[rl;'\emn th 1'Lq|t?l Le]ngth & (el |2 Fel | m 9
mm A1 Block A2 Block A1l Block A2 Block
280 1089 BZ28 700 40 20 7 5 20.4 22.1
1080 1189 228 800 15 40 B & 222 239
1180 128¢ 1028 2on &5 20 B & 24.0 257
1280 1389 1128 1000 40 40 g 7 257 274
1380 1489 1228 1100 15 20 10 7 275 29.2
157
108
170 4-MIx05Px6 DP 50 4-MBx1.25Px45 DP
150 8
131 Zxrn-M2.éx0.45Px 4 DP ) P /2xn—[ZJ11THRU,[ZJ1?.5x1D.5 DP
II =._‘|' & __u_ ___'_ r—— — j— _'__ JQ'D
=== & | ®  [elre| |
o ﬂmf@ : B g o el B PO _\——Tgﬂ L
Sl e e R il il e :
S s & o [ 4| & —|
70 0| o S — — — — — — = — — — — 113
130 " 4 "t 4 12
SECTION A-A 200 H
B-Méx1Px12 DP [m-1x200 100
B__35 35
28,
— " A I 14
] | - -
14 ﬁﬁ ___ - =
& — L S | I | — t algs
7~ N =T S —— i 15,8
I ni | LT NN s
I ! =
A 150 G i
[n-11x150 =
L2
L1
i Maximum Stroke [mm] Mass (kg
Rall[Len]gth Total Length & Fal [ el m g
L2 Imm L1 (mm) A1 Block A2 Block A1Block  A2Block
280 1098 8211 £59 40 20 7 5 319 3.9
1180 1298 1011 BLQ &5 20 B & 371 411
1380 14928 1211 1059 e0 20 g 7 42.2 46,2
1680 1798 1511 1359 q0 40 i g 499 53¢

25

YIEW B
-

VIEW B
——



28 KD2TE10-1301

1.10.2 Motor housing and Motor adaptor Flange

KK40

Motor housing FO

12 386

PCD28

4-MB0. 5P DP

/

ey

Motor adaptor Flange F1

44 BE
3

=

O
Fia

4-M4nl 7Px8.5DP PCDAE

, —1 H
=gl

P J—
T

-r-4—
f @20
2
0ag

&@% 5
Li!

Motor adaptor Flange F2
48 85
=k

[y

o e

KK50

Motor housing FO

L

il

zﬁjgg

:l:g:

|

Motor adaptor Flange F2

PCD4S, 4-Mx0 5PxBDP

il

140

Motor adaptor Flange F3

|25

g

Cla2

{ iy
Wi

Mount Housing HO

12
]
e

14.5

&

i

Byn?

i

7

4-33.5Thr,
Dl 5DP

AN 57 Thiu

Ef

275

13

1.5

A-#13.6Thy,
B6x3.50P

4-M3x0.5P Thru

4-M5e) SF=EDF




KK&60

Motor housing FO
mE

Motor adaptor Flange F3

__JE :

_ﬁigf

==

a5
= L]
42

Motor adaptor Flange F2
) 10

3.5

% 19,
X

KOZTE10-1301

4-hd] 8Px10DP

Oe

[T

—

98 L)

TR

Osz.r
4714

B85

Motor adaptor Flange F5
]

‘ ﬁ}}_@

—i (Ao g"gg Zﬁ“?f" % 5 — ¢
— —H= — mil T B 4
A -id) SPThy
Mount Housing HO Mount Housing H1
’:lwl A r 33 1 . TP ’:E |9 | 27 é/ SR
. Py _
= b [ L@l = e
— P T{gbeTeg® 18 Jdap o Teg
8 1 — r )
KK86
Motor housing FO Motor adaptor Flange F4
a7 Br 12
- Zﬂm 400, TPRADP AJ!__ o5
= § ' & /\ E = Ja\
L - 7/\ Pt o . g L f‘
e Y, T
V) 8 m] || 2o Ll -
|\ S 8B /_)i b L My = )
= leﬂm #HM.IF; CoP ° A5 Z%;;‘m;
Motor adaptor Flange F1 Motor adaptor Flange F5
3 I;J 10 = 3;0 -] .
] ] = B 38 —

F —
eI, == ir=mhrTAgn 1N
— b I opcp

%
A-Mdxd TPaHDP |

Motor adaptor Flange F2
a7 -]

Motor adaptor Flange Fé

o— BT
L2380
|28,

1

(2. 50
= S
e Mool
m4-mm.;mnp T
Motor adaptor Flange F3
C—
e DA
_E{T = W j 2

T

Mount Housing HO
T
13

4- Wb BFx12DF

T
i_

fid

B40hd

- LI

29



KOZTE10-1301

KK100

Motor housing FO

24

7 45
k)
4-M5x0.8Px10DP
22 - P.CD.70
|
|
BT 1 | ] 5
E]
ﬂ_ — - T—1 ‘?‘?I
|:| — =]
u
= [ =

Motor adaptor Flange F1

4 12

4-Méx1Px12 OP
P.C.D.20

I
L

|
=]

[P N gy
B44

o7
72

Motor adaptor Flange F2

P4 2
15 4-MEx0.8Px12 DP
- P.C.0.20 080
T T 1 "\
ey i@
| 28 = E ?
= ______|_: = %I 4l w Q 5.

KK130

Motor housing FO

i

_IL% J X B-Mé&x1Px120P
=N
]
Motor adaptor Flange F1
woe 12 4-MBX0.8PX120P
. 5

Motor adaptor Flange F2
100 15 25 -0,
V
= %
— 5

Motor adaptor Flange F3

9% 12
25
(B N
I =
1] R
TEl=rt &
= I
f———F—I

4-Méx1Px12 OP

72

Motor adaptor Flange F4

24 12

25

iy

B4k

g73.06 1%

|
|
L
Bl
|
Ll

Mount Housing HO

5%
27 3
14, 22

J_

|G
5o
212h7

4-Méx1Px120P

72
7

Motor adaptor Flange F3

1% o &MSX1PX120P
! |
— #;g 2

128

Motor adaptor Flange F4

.5

I

L]
¥

Mount Housing HO

4

&
35, 2%

P23
1
— B

[
@15h7

2 £-MSx0.8Px12DP
- N

83




KOZTE10-1301 31

1.11 Optional Accessories

: il
. : L a
| i E |
. 3 i :
-‘EP}- h -1
f ﬁ_
Unit: mm
Nominal Width Rail Length Stroke Min. Max. a b c d
100 &5 16 51
KK40 150 63 27 e0 50 22.5 19 &3
200 23 37 130
150 60 21.5 81.5
200 95 29 124
KK50 62 37 19 47
250 130 36.5 166.5
300 160 46,5 206.5
150 56 16 80
200 106 20 126
300 166 40 206
KKé&0 84 45,5 24 54
400 234 56 290
500 306 70 376
500 366 e0 456
340 188 36 224
440 260 50 310
540 336 62 398
KK86 110 61 32 75
640 408 76 484
740 480 e0 570
240 640 110 750
f80 769 58 827
1080 855 65 g20
KK100 1180 @45 70 1015 150 73 41 95
1280 102¢ 78 1107
1380 1115 85 1200
?80 748 62 810
1180 216 78 994
KK 130 180
1380 1084 Q4 1178

1680

1344

113

1459



32 KD2TE10-1301

1.12 Switch ) :
- 42 -
Switch rail T L
w| Ny
==

Switch

Nominal Width a b c d e f

KK 40 41.5 54.1 0.5 10.8 15.3 12
KK50 45,5 59 1 10 15 i
KK&0 51 638 4 14.5 8 13
KKES 63.5 767 8 18 8 18
KK100 71 B4 10 20 2 20
KK130 85.5 98.5 14 24 0.5 23

Switch 1: Omron EE-SX&71

Nominal Width a b c d e f

KK 40 3565 44,3 1 2.8 10.5 12
KK50 41,3 48 1 0.5 0.2 1
KK&0 46,2 52.8 4 14 3.2 13
KKES 59 657 8 18 3 18
KK100 66 73 10 20 4.2 20
KK130 80.8 875 14 235 -4.1 235

Switch 2 : Omron EE-SX674

Nominal Width g h i j
KK 40 40 5.5 13.5 5.5
KK50 395 5.7 7 192.5
KK&0 44,5 2 2 2
KKES 57 13 1 13
KK100 64,5 15 25 15
KK130 79 19 -6 19

Switch 3, 4 : SUNX GX-F 124, SUNX GX-F 124-F



